
1) N deal and open 2S, S bid 3S if possible, Nil

West

8

K754

875

AQJ95

East

7

AQ3

AK642

K863

Ching:

2S – 3D – 3S – X (?)(wiz: look for s guard)

P  – 4C – P  – 5C

Wiz:

2S -- X -- 3S – 4H

2) East deal, NS

West

AQJ53

8

QT5

AQ73

East

T862

K3

AJ743

K5

Ching:

1D – P – 1S

P - 2S – P – 4S

Wiz:

     1D    1S

     2S     4H

     4S

3) South deal, EW

West

A85

KJ

KQT964

A3

East

K7

AQ82

A53

8642

P – 1D

P – 1H – P - 3D

P – 3S – P – 3NT

P – 4D – P – 4NT

P – 5H – P – 6D

(don’t know how to find 7D)

The same bidding

4) West deal, Both

West

AKQ96

J7

A643

KT

East

5

T953

Q52

AQJ42

1S

P – 1NT – P – 2D

P – 2NT – P – 3NT

The same bidding

5) North deal, NS

West

AJ6

8

AK7642

974

East

KQT5

J76

Q83

A53

P – 1C – P – 1D

P – 1S – P – 2C (!)

P – 2D(!) – P – 3D

Invite??  Count something wrong?

1C        1D

1N (1)   2D

2S         3D

3H(2)    4D

5D

(1) As I remember, u and wilson play walsh ga?

I have something wrong?

(2) Half guard asking



6) East deal, EW

West

53

Q6

AQJT94

KQ6

East

AT9742

AK98

K

AT

1S – P – 2D

P – 2H – P – 3D

P – 3S – P – 3NT

P – 4NT – P – 5D

P – 6NT

(don’t know how to find 7NT)

I even don’t see the way to find 6N, u r better

than me already

7) South deal, Both

West

AK765

A2

AKQ62

T

East

T842

KQT3

J5

KQJ

P – 1S

P – 3D – P – 4D

P – 4S - P – 4NT

P – 5C – P – 6S

Ching:

Little down grade for East hand to bid 3D

Wiz: good valuation, same bidding

8) West deal, Nil

West

AQ76432

764

A

63

East

V

82

KQ7653

AK842

1S

P – 2D – P – 2S

P – 3C – P – 3S

P – 4C – P – 5C  (*)

(*), the first six bid is the same, but I will choice

4S instead of 5C…as a unfit hand, keep the voice

low is better

9) N deal and open 2H, EW

West

KQ

82

AKJ97

A832

East

AJT543

K74

Q

K64

2H – 2S – P – 3H

P – 3NT – P – 4NT

P – 5D – P – 6S

Wiz: So brute force, 3D should be forcing

already, I think

(2H)  2S   p   3d

          3h       4c

          4s        4n

          5d        6s

10) East deal, VUL

West

AJ62

8765

A

AQ72

East

87

KJ432

KQ9

K65

1H – P – 2NT

P – 4H

Wiz: seems not so good to use 2NT with a

singleton

    1H      1S   1N  2D   2H  3H   3N  4H


